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G, = 120xj0° Pa, Gy = o, 6, = I¢o~tD* Pa
£, = EL('S* - VEG - V)
= 57—,:,;;; [ 120 = * - Co.a‘r)(uaﬁoq]

7S5y, 02 »jo~*

€, = é—(-»s‘, -VES, + 6, ) - W:’;—,:;;—I-Co.sﬂ(m;:.no‘} + 160 )0* ]

= f.370) wio®

{a) S“E(JE ‘E,, = (IDO Mu){?‘?.fl?r}d‘) = 0. 0754 mm w—
ity

(b} ‘55._'(&_2-)22 = (75 ) (1.3701210° ) = 0.1028 wsm

(c> ‘
A b e Laké]_ Sides of vight frlangle ABL as a b, avdl =,

b c¥= ats b
Obtain difFave~trsls by caloudos,
2¢c de = Rada + 2b Jdb
de = £ da + £ b
But, = 100 wm_, b= 10O wm, c-=m = 125 vam
da= B @ O.0754 wmm Ab = Sg = 0.1370 v

B
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Sac = olc = 33 (o.0754)+ o (o.1028) 0. 1228 mm =
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M=-Px (9.7)

Substituting for M into Eq. (9.4) and multiplying both members by the
constant El, we write

Integrating in x, we obtain
(9.8)

We now ohserve that at the fixed end B we have x = L and 8 = dy/dx = 0
(Fig. 9.11), Substituting these values into (9.8) and solving for C,, we
have
C, = 3PL?
which we earry back into (9.8):
d

E1 =L = _ipet 4 P12 ©.9)
Ix 5

Integrating both members of Eq. (9.9), we write
Ely = —ipd + IPL% + C, (9.10)
But, at B we have x = L, y = 0. Substituting into (9.10), we have
0=-kpPL3 + 1PL} + C,
C, = -ipi?

Carrying the value of C; back into Eq. (9.10), we obtain the equation of
the elastic curve:

Ely = =}P + 1PL% = iPL?

= o e are ars
y—BEI( © + 3L7x - 2L7) (9.11)

The deflection and slope at A are obtained by letting x = 0 in Egs.
(8.11) and (9.9). We find

1 =—££‘i and Hz(ig*) =£~I:i
T A=\ ), 2EI
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